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LOWEST AREA

P=30+6+30+672
A=30x6=120

Largest Area
Area=324 units squared
Perimelers=72units
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Student A

Our Data )

« Enclosed Area (Can be Rectangle Or Square)
« Batha square or rectangle has 4 sides
« 72 (total perimeter)/a = 18

Our Answer

Weknew 1 e ancosedare coud b  sgareanda rcangewhich s
v sde Sos Gecded At 10 ot St
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18x4=72 (18 by 18 by 18 by 18 to get 72)
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RECTANGLE 15x21 Area Estimate: 414
e
roe Justification
SQUARE 18x15 ‘The shape with the lagestare s th circk. We know tisbecause th area of
L4 the it is 414 yards, he square s 324, the 162 recangl s 320, and the
= 1121 ecangei 315 Thyeach ave e s perinee usg s 72 s of

fencing butth il sl s th mast amount of aea given.

Justification - square

The squers hasthe lrgestarea, we knowtis because lfough, a3 shepes
fake up e whole 72 yards ffencing, the squae s 324 yards of areawhile the
16420 retangl has an area of 320 and th 1621 hasan area of 315
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Length: 30
Width: 6

Area: 180

Explation

This is the largest area because we multplied 30 by 6. The product of 30 and 6 was 180.
In the picture the area looks big




